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7Y & [ o 400 kg 400 0 0
7UE 1 4% 30 kg 30 0 0
A% Rk 50 1# 50 0 0
ENIA A FlRf 100 & 90 10 0 0
ZEP FlRf 50 1# 50 0 0 0
AN 5145} Felkf 100 & 90 10 0 0
MELNEE Rk 100 & 90 10 0 0
LELEAS FelRf 100 f& 90 10 0 0
ANt Kl 60 & 54 6 0 0
UNAATY FIf 150 1@ 140 10 0 0
ROV Kl 50 & 50 0 0 0
FURAAGL AL iE pE 100 & 90 10 0 0
Fr'Fa'sk Koy 100 1@ 90 10 0 0
Jagh Rk 50 1 50 0 0
4 FIRFFh 300 kg 300 0 0
PN TV Kl 100 & 90 10 0 0
AN AN Kl 100 & 90 10 0 0
PN YA Rk 200 1@ 180 20 0 0
FAHL FlRf 150 & 140 10 0 0
Yy @u-y1@  dbks 1,000 f& 900 100 0 0
a4 KR 100 & 90 10 0 0
VP4 Kl 150 & 140 10 0 0
Fyx sk Kl 100 & 90 10 0 0
ML TV A FellRf 50 1@ 50 0 0 0
FH AT TARGURN 100 kg 90 10 0 0
BT A g 200 kg 180 20 0 0
w744 Koy 100 & 90 10 0 0
T hIA i3 100 kg 100 0 0 0
ATV kT AL IR 300 & 270 30 0 0
N4 H AR 60 c/s 60 0 0
YA i ] 30 30 0 0
YUAH, TV 4 Rk 150 & 140 10 0 0
YA, 545 Kl 100 & 90 10 0 0
Y A%, L7254 Kl 100 90 10 0 0
YA e i) 100 & 90 10 0 0
Va7 gk FelRf 200 & 180 20 0 0
Vva HRs Rk 400 {# 360 40 0 0
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Vyagk R IR 400 @ 360 40 0 0
=Yy ERADR AR 1,500 fi& 1,350 150 0 0
77 Ko7 200 A% 180 20 0 0
AN SY Y4 FIF 200 f# 180 20 0 0
P4 Kok FlRf 150 & 135 15 0 0
15735 F Ry 50 kg 50 0 0 0
1E7F2 KR 50 kg 50 0 0 0
MRV EPAN A7 400 kg 400 0 0 0
EV SN EPIN Kl 500 kg 500 0 0 0
43, A2t 4t e [ 150 kg 150 0 0 0
15424k Rl 50 kg 50 0 0 0
CRVEPYS Rk 300 kg 300 0 0 0
H RS & i) 250 1@ 230 20 0 0
BTt PhRS: 50 kg 50 0 0 0
INEASL i [ 1,900 fi& 1,710 190 0 0
KAH TV KR 100 & 90 10 0 0
KABG =y 100 & 90 10 0 0
A= JEVR B4t 500 4% 500 0 0
LY F IR 20 & 18 0 0
RE R E S 50 kg 50 0 0
KTV RTR 4 Koy 100 & 90 10 0 0
KIJfast Koy 150 1@ 140 10 0 0
HP4K T 100 & 90 10 0 0
AhYA B IR 50 A< 45 5 0 0
VNIDZZAN =10 50 & 50 0 0 0
FHNT JHE 2 5 4 600 A 0 600 0 0
YT AEARS 400 ¥z 0 400 0 0
FEARF R4 50 A 0 50 0 0
E HEA 300 kg 270 30 0 0
A RS 2,400 #& 0 2,400 0 0
YT R #s+ 300 A% 0 300 0 0
FLTA JEE VR 5 o 70 K 0 70 0 0
FETA it [E] 800 kg 90 710 0 0
A e i) 630 1 577 53 0 0
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* BFt * 60 c/s 60 0 0 0
3,830 kg 3,060 770 0 0
10,090 & 9,154 936 0 0
1,270 K 225 1,045 0 0
3,300 ¢ 500 2,800 0 0
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